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INTER BELL
INTERVENTION BASED ON EFFECTIVE LEISURE LEARNING

STUDENT SUPPORT MATERIAL for X Mathematics

0680 Qllaesyav STD 10
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this day

John Thompson
1932 - (USA)

(@6N2208, @] ALAQIIBL68BUD)

He is known for his proof (with
Walter Feit) of one of the most
important theorems on finite
simple groups.
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z S s - Y

(a + b)> = a? + 2ab + b? (a—b)*=a?-2ab + b?

Identity IV

— h2— _ (x +a)(x + b) =
b?= (a + b)(a - b) X2+ (a+b) x + ab

X° + 8X = 9 o AVANNG:OTIM X 6B + Ve allel 3:mamas

alloflw ~e1geu8 M@E:m. 0l§EaI®AI ajdl-lyQ.
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1) x* + 14x =32

2)x*-10x = 24

3)x2 - 12x= -20

B (@JUOMo BMISHWIGLIN?...

2.6 HIgd M )53s3 3m)
Sl a2 OI@IO30 o [l @l
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allous =1 ooy o2l @d
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all@owilenl milmeenuBas A,B,C ag)arl Gal@aud m@dalwadd
HHAIMBNINTV MIRLIAD (@JHIVo MIHY® :HIMAN IR AB = 2.4 m agam’
Slgamn.

6 almENIOMI MUIRLID ()00
AB? = AC?- BC?
=26%-12=6.76 -1 =5.76

S AB=V5.76 =2.4m

. m

me®

SN’ @ Moo MIneMIano MIEHI® Gro @AIYMIMELI? @R X MQAB agan’
HBDNWID, all@EWI@MIamo...

D
]

ANBO @ NB?+BO? = NO?
S(24-xP2+(1+x)72=26°
D242 2%2A4X X+ X2+ 12+ 2x 1 x X + X2 = 2,67

A

x m1 " 5.76-4.8x+Xx2+1+2x +x*=6.76
| " 2X%-2.8x + 6.76 = 6.76
26 m ..- 2)(2 o Z.BX = 0
5 2(x2- 1.4%) =0
S X2-14X=0
SX(x-14)=0
| 1m o o @@OAWEX=00rXx-14=0
B xm malesx=0+14=14m
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AUBRo nRBOHIWIGOHTD @l DaleIUI2jlo D@

6)21@Q)IUMN @ I6M.

X2—14x = 0
X O} U36MB0 -1.4 OAY ald@NIOS NIB o DE3 NIUDDBITo
S>153BMIIUD.

x2 —1.4x + (-1.4/2)? = (1.4/2)?
x2 — 1.4x + (-0.7)%2 = (0.7)2

(x —0.7)2 = (0.7)?

S X — 0.7 0.7

SxX =07 + 07 =1.4m.

1. sl@awleal gomamla® ayoauadsm AB. PC, AB @ elosnimasm. PC= PO.
AO=3cm. BP=4cm. PC @e&s dlgo af)@wrwldlesoe?

2. 8@ ag@ICHIMAHOR BHAMATOM MBo A 1BODIOM 0" NSEHCMINIUD
HAM QeI SMLIEM. HANINHD@D MU0 HBEMEAMINIUB B@ QMY B:00161N.
1) al0Bo X @RI &Bemajo, HEMINHD® NIWNJo X DalCWIWaf af) D d.

11) a5@IEHIEMATNHM AIUDEBUD BEMINIAB D>
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3. 80} aIoREOMIOM Misaize alloilale 18 cm, 12 cm
allmaosem. misgale allmlale x cm allmo.
udeulaflsjeajoud aillmimdemoe 432 al.omual @ry@il.
aG)&s1@3 x e6d ailel ag)(@?

4.

a) 40 cm aQaai aman A@ECTOWD QIOEBSHS TVoAIYD GeRISIHUD

) LD
b) 40 cm aj9z050 96 cm* alrxigaj NIBAD 2DEEHOWR AIUOERUD

B3I D>
(GIHNIB TY@o DNE eeeee6BIreess af)ADIHEMENI....

WemMlap@d 96 90 @gi@Imd 20 90 AN VORI U3 BeMROTIWID
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JOINT VENTURE OF DIET PALAKKAD AND SSK PALAKKAD

INTER BELL
INTERVENTION BASED ON EFFECTIVE LEISURE LEARNING

STUDENT SUPPORT MATERIAL for X Mathematics

Born :

060609 aQlleesyway STD 10

this day

Weml®o - OOV - 43

Ernests Fogels
(@620 @] MLVAQIIEBH\6BBUD)

1910 - 1985 (Latvia

Ernests Fogels was a Latvian
mathematician who worked in
number theory.
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X+a

ax

x+a
i@ AVaaIPEETIe®) a0l = X 21 qemig”
alRaAg0l = (x +a)2

B0 2QOTAOBR aleABA = ax 21 aqpemiy”

021l AVAAIBEOWIND aleAB = o a1 qerig”

+ 920l avaal@eaDeR alexigni

- @O alPAB -

= aiel® (2IDo0IOm®) aloag0l , 2 : :

+ 0613 2IPOTBFSS aloABA [ (x+a)’ = X'+2ax+ ‘a
= X+ ax+ax+d = ¥+2ax+ @

aelo muaspeoniled aeagal = X
a0l MapeEDied aleaeal = (X - a)
YU ai@RODIO® aleaj@al = a(X - a)
algl a@EOBlOMR aldqjgal = ax

(x - a) a

So(x-a)y)=x*-a(x-a)-ax
=x*-ax +a?-ax

=x%-2ax + a?
X2 -2ax + a2




ABQo aJBOTIWIAR @D

enll2nemi® @alo X 6 WMo &g aIdPo AUBY@ato
X2 + 2x 2 (2/2)2=12=1 (x +1)2
X2 + 4x 4 (4/2)2=22=4 (x + 2 )2
X2 + 6Xx 6 (6/2)2=32=9 (x + 3 )2
x2 + 8x 8 (8/2)2=42=16 ((x+ 4)3
X2 + 2nx 2n (2n/2)2 = n2 (x+ n)2
nllnemi® @alo X 6 wemMdho &g adPo AUBY@alo
X2 - 2X -2 (-2/2)2 = (-1)2=1|(x-1)2
X2 - 4x -4 (-4/2)? =(-2)2 =4 |(x - 2)?
X2 - 6X -6 (-6/2)2 =(-3)2=9 |(x-3)2
X2 - 8x -8 (-8/2)2 =(-4)?=16 |(x - 4 )>
X2 - 2nx -2n (-2n/2)? =(-n)?=n? (X - n)>

—age_,

(@a+b)=d+2ab+b

(@-b)=a-2ab+b
(@a+b)(a-b)=a-b,

<
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1) aanlsailg 0613 ag)eIN@MVAIYRBOS YeMManeimosm’ 440.
VoAU HUWB ABODINBNWIET ?

Mo HWRB X, X 12 ag)amidloness.
X (x+2) =440
x*+ 2x = 440

A1d@o aJB@B:AlOsM@IM0 EoIeNE B@AIIM. ( % )’=1°=1

&S6mo.
x*+2x + 1 = 440 +1 = 441
cL (x+1)°= 217
S x+H1=21
x=21-1=20
", oty = 20, 22




MeQIM3 @@l

quoai»Wd (X-1), (X+1) agridiemes.
o (x-1) (x+1) =440

c.ox2—=1 =440 [(x-1) (x+1) = x*-1]
. x*—1+1=440 +1 = 441

coxX5 =441 =217

C.x = 21

. avoaydWd = 21-1 = 20, 21+1 = 22

@ollos auoalyd:aes gemmaneio 440
aeyem’, 20 x 20 = 400,

21 x 21 = 441 5o mgeedlio ,
@AM @RIRERUB 20 mo 21 mo

@PSEOINI DAILENI @RYSN. MNIHS @RYNIUDL0

DAY Mo,
QOD DalCWIUINHR... @IDIMIM Mo 20 90 22 9o @REM.
@ 20 X 22 = 440.




2) 8@ ng@IGHIMATOM Llosn! NIWDERW @milejaa aly@idavo 10

V.4l . AF@IEHITMNAINOD 1RGNN 72 al.OAL.0. @RYWIM LlosN

QAUNEBBS MGo HID?

al@dla0200 1

al@la020o 2

alvaEsal@d alej = X,
oalqm = X-10

@R)IDD

aloxigal’ 1/2 x X ( X-10) = 72
X(X-10)=72x2 =144
X*-10X =144

X?-10X + (-5)2 =144 + 25
(X - 5)2 =169 = 13°
X-5=13

X=13+5=18

alvoeERal@d aiejo 18 cm.,
oa1Qm 18-10 = 8 cm.

AlweaERaEl@ aalqm = X,
aej = X+10

@R)IDD

aloxigai’ 1/2 x X ( X+10) = 72
X(X+10)=72x2 =144
X*+10X =144

X?+ 10X + 5° =144 + 25
X+ 5)2 =169 = 13°
X+5=13

X=13-5=8

alaRdl®d salq@m 8 cm.,
aej» 8+10 = 18 cm.
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2. 8@ 2I@EOMOM ajosal 100 M. alealsal 525 2A1®EEy m.
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QUALITY EDUCATINN FOR ALL

A JOINT VENTURE OF DIET PALAKKAD AND SSK PALAKKAD

STUDENT SUPPORT MATERIAL for X Mathematics

Died on

9th October

Gianfrancesco Malfatti
1731-1807 (ltaly)

He worked on geometry,
probability & mechanics & made
contributions to the problem of
solving polynomial equations.
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x+1

aele qunaI@eeIe®) aloadBol = X . Qermig”
( alogal = (x + 1)° ]
B0 2UDOONOW aloHBA = X 21 qperrilg”

62I0l AVA2UDROIHB AlRABU = ] aemig”

-t EROG: aldABl
= aell@ aVn2IPeCNOM®R al@g0d

+ 06Nz 2UDOEBZOS nl@AB [ fxat 1)2 = X+ 2x+ 1]
+ 0210l AVN2UDOOIIOD al0ABOl

=W ExLxEd = o2t Dxiid

2Xx

X2

X 20 0

xX+2

aele qVn2IREEIO®R) aloABOl = X o) Qemig”

[ alodgal = (x +2)° J

B0 2UDOAANW AlRABU = 2 X a1 @emilg”
9210l AVN2UREOOY alodB =4 a1 Qemiy”

+ 0210l AVRUDEAOIOD Al0B

2L @D Aldaigd

= ael@ wn2IQeIOR alegol - > _

+ 0613 2IPOEBGOS aloABOS s (x+2) = X+ 4x +4J
=X+ 2X +2X+4 = X+ 4x +4




x+a

ax

x+tda
el AVR2IRDEOIO®D alABOI = X aemig”
[ aloatgal” = (x +a)2 J

B0 2DEOTINRY al0HBO =a X a1 agemig”

P21l AVRAIPOEOIOWD aloABA = aP a1 ayerig”

-t @ROB alPABO
= el v IPEIOMR aleagal :
2
+ 063 2IDOTBZOS AlRHIBOL [ (x+ta) = +-2ax+ aﬂ
+ 9210l AVR2AUDEONIHY AlRLBO

= X+ ax+ax+a = X+2ax+ &

AN

&
2l (a+ b)2= d+2ab+b

?& )
$) 73| INGE b)=a~2ab+b

Y (@+b)(a-b)=a-b,

by
i
]
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9B32aNRMNBRUY :

1) samlsails A6 ag)sIN@MVoAIHBHS YEMManeIeA®IS 1
51018 289 @ilgl. MVoaI ®:WB ABO®IOHBHWIEN?

MU0 D WB X, X +2 ag)amlGlanes.
o x(x+2)+1=289
x*+2x +1 = 289

c(x+1)°=17
Sox+1 =17
x=17-1=16
quoalyduB = 16, 18

M6QI@3 AI@Il
quoalydud  (x-1), (x+1) agml@lenes.
oo (x-1) (x+1) +1 =289
x*—1+ 1 =289 [(x-1) (x+1)= x*-1]
cL x5 =289=17°
Sox = 17
qvoaydB = 17-1 =16, 17+1 = 18




2) 4,10,16 .....a00n @S@mAN AVRIANACYYSIVIHLI Af)(@INOHDED

alzelo® adymiem 11567

4,10,16..... agyam qVMIODEYYSMII@D
@AY aldo =4
@A ®LITVo = 6
enllnemlm@alo = 6 n — 2
ald ado = 1156
(6 n - 2)° = 1156
-.6n-2=V1156
=34
6n=34 +2=136
n=36-6=6
.. @0 aldeIO® adymaem 1156
(4, 10, 16, 22, 28, 34 ....a5mM WMV @RYNIo aldo = 34)




3) adadle:n0] &galeluo &eMENIABMM B@ alevdiwiad 1000
@Bt aleoHalla). A6 AIBnto B¥leMEx1WB 1210 @i
alel e ag)@ @MBIMMIEM?

mleotalla] @®a, P =Rs. 1000

&oeIWl, N = 2 Nl@aHo

2 QB HODTIM 6UdaHo ISl @ , A = Rs. 1210
aleloaleas” R agamildleses.

Pi1+—-‘F—-|

100

R 2
1000/ 142
100

. adellvomloos’ = 10 %
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@RI nJEGANMISATIOHM S AULATHIOM Mo af)@?

2. 21®IGHTIVWIV 8@ hHadlmuaciadloM migo aldleeniud 4
dlgd Gg@ensm. GaElaeIHIOM aleI80leMIg &Sl 4 2ADOWD)
dlgd @glwe~duW 324 21@oWwnlgd lglewesldd
Sglruaeiomlod migaje aldlgoe ag@?
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A JOINT VENTURE OF DIET PALAKKAD AND SSK PALAKKAD

INTER BELL
INTERVENTION BASED ON EFFECTIVE LEISURE LEARNING

STUDENT SUPPORT MATERIAL for X Mathematics

Born on

8th October

6)6)09;%5' Qiléeswav STD 10 Hans Heilbronn

1908 - 1975 (Germany)

Hans Heilbronn was a German
mathematician who worked in
algebraic number theory.

Wweml®o - OV - 41
(@6NME008) @] MVAQIIBHLEB3UD)

| al2004 - RaMRIH A MUNONG:|ERUB:

@RSBOJHBNIV] NITWHRSE®I ERLIOTHNEMI @YW TVMNIID:|6BRUI
DUWBOISAN JREBBUS alBlaO@BNIM aleNE’ HMEEI WMl HIMIA
alel m@'Ice;go oe:amgcommﬂgmo@’l(a;m. M GAII@NIM HHILITD)
O@MB3 NIRUMIM A (@JaldR@HILIW.




aflel @JWEBUW aldlewdwlando.

0 amgqﬂammo1a4 63(scmo (mom'lro% ggmeelo aﬂmmemua mcﬂ@mf
- aumdemBdd 5 i |

1. 6;«»3 mgmmm’lan@ QJQQO.I 26 -"Ing Qilcoﬂ 5 -‘Ing cmgco)oco% m"lg_;o
aj@Eigoosm? Lo L Ll e L L R

ajggai’ = 26 alQa ===
. 2(aMgo + all@il)= 26 e
.. igo + allosl = 13 % %
. mlgo + 5=13 —
E m120 - 13 B 5 - 8 gﬁ. @’fﬂﬁ mﬁmama“.qggar’x
M@ @MHAM il emI@® @Yl ) 2Jg@0l = 2 Migo + 2 ollaf

=2 (migo + allo)
@R) AHNWIGRI?

ajg@ni’

ajqgai’ = 26 algd \n'ﬂﬂa + oo =
. 2(efigo + alla)= 26
Mgo = X alg@ ag)MIABOS.
. 2(x + 5)= 26
S.x+5=13
c.x=13-5=8
", igo = 8 allga.

>4

[ alig@al’ = Migo x oflol ]




= 8() m qggm@g 53(03 aj@(om'lang m’lgo oﬂcail«ams mmg N
-sam‘lemcemcﬁ a@ algd gg«nelosm oj’lco)'qugo mlgojo ag)@'? |

ajggai’ = 80 m

.. 2(olgo + all@)= 80

migo + allal = 80 + 2 =40

all@lQes ez asERleMONIW 3@ MQA GS@melem migo.
", aloles eeng asaRo Ao gslwom = 40 — 1 =39
@00 olldlQes gon asay = 39
Lalel =39 +3=13 m

ngo=2x13+1=27m

O@IoM iRV @aloie sslwoce!d?

all@ll = X algQ@ ~gaMldlanses.
L oigo =2x +1 dlgd

5. nigo + allal = 40
S.2x+1+x=40
S.3x+1=40
s.3x=40-1=39
C.x=39+3=13
ool = 13 m
Loigo=2%x13+1 =27 m.




@@euoqgg womgo @cg,oacmﬁ m-ua oJ(O1n.IQ‘))6)n‘.‘I§ oe,@'lsmog

. DOQIM (@JWYo BNIBHIo.

1. n‘;ggm 63('63 -"Igoocc» aJ@mcmﬂw% meﬂ@ mua«mﬂna a_ruo'lco)

muoe«mmemcﬁ 5 cm mMiso @g@emsm muosm
-_ee;srmeaooes;ce) T St

enilz2neml® Al@ @MIBNIo.
Migo = X , all®l =y agamlemem alanss.
ajggai’ =1 m =100 cm
. 2(aMgo + allail)=100
S.2(x+y)=100
S.ox+y=100+2=50
S.X+y=>50... (i)
GSIOD, X — Y = D ceeeeens (ii)
(i)+ (il) == 2x =55
x=55+2=27.5
X = 27.5 (i)™ 630500
27.5+y =50
. y=50-27.5=225
® x +y =50 agmBBIM X, Y ag)amlaies GHolNQo , YeMad>0jo
1 @meam.




@(HTG)SQ@%OO mogeeo cﬂ:6TT§nJ1§|(8c06)6TB mgo,;oe;uam

(moméa;cﬁm ) x og)(scmo y ag)ecmo g SO @mﬂg‘l@'lees;-(s%q._

-_mm@asa@%:)o og,an‘lce;ua 1 cernglm?.cm mg_«u‘lel @qgemcﬁ emocemca

1. 8® MUBAIPEEIO) nlogar 36 al oMV EO@IG Aws

0?
MVR2IDEAHOHMD aloBOL ( TVRAID 0o J
= Q1o X a1woo =36 =6 X 6 Ao

" 0lwo =6 cm

U0
Do

(ag@omienz” 36 = (-6) X (-6)agom

@dlai’ MIo MAiles aldlwemlesaniel? Gk

ajg@al’= 4 Xalwo
(GT@(SEIOQJ']@...) ajg@0l" = alalna) moel msay”
\

O@loM nilrwemimo aam’ o

alRAgal = al@IHR dpo

al@Alwemlajoceld?

)

AlYoo = X CM af)MIAlI9HS.
Al = QIUdo X IWdo
=X X X=X

x’= 36

*.Xx=V36 =6 cm




0ilos MBS Hngallsleanmz® 8@ avoaly (QIWdo) MI@@ISMEELN.
@ODHDIENZ QW00 = X af)aD af)SOMD@ ERUlfEal? qVMNIdS: @G
@O@IOM H@ 2 @RYHEIMIo W EUlaNIGE.

apmosm idpajo cidpgernge?

AIBQo AIdpyelo
1’=1x1=(-1)x(-1)=1 +/1=+1
22=2x2=(-2)x(-2)=4 +V/4 = +2
32=3%x3=(-3)%x(-3)=9 +v9 = 43
A =4x4=(-4)x%(-4) =16 +/16 = +4
52=5x5=(-5) x (-5) = 25 +/25 = £5
62=6 x 6 = (-6) x (-6) =36 +v/36 = 16
72 =7 x7=(-7) x (-7) =49 +/49 = +7
82 =8 x 8 = (-8) x (-8) =64 +v/64 = +8
92=9 x 9 = (-9) x (-9) =81 +v81 = 19
10% =10 x10 = (-10) x (-10) =100 +v/100 = +10
112 =11 x 11 = (-11) x (-11) =121 +V121 = +11
122 =12 x 12 = (-12) x (-12) =144 +/144 = +12
132 =13 x 13 = (-13) x (-13) =169 +v/169 = +13
14%> = 14 x 14 = (-14) x (-14) =196 +/196 = +14
15% = 15 x 15 = (-15) x (-15) =225 +/225 = +15
16% = 16 x 16 = (-16) x (-16) =256 +/256 = +16




17> =17 x 17 = (-17) x (-17) =289 +1/289 = +17
18% =18 x 18 = (-18) x (-18) =324 +/324 = +18
19 =19 x 19 = (-19) x (-19) =361 +/361 = +19
20% = 20 x 20 = (-20) x (-20) =400 +/400 = +20
D $:02jUl0 0600 B QJRTBA 21) PaIYoo..cc

nIaERgeSs Migo )@ mlgd eplman?

I. 8@ aunu@ooiledd wwaBegele 3 mlgd oiglwexioud
alexIg0l 64 21@owalQd e ®l. ERAAOM VMDD

[maJm aVD2I@EOIO®D alwoo = X mlgd nmmﬂra?mmg.]

Alwo 3 mlgd gyglavamd
aJ@l quas@eoiend alwo =X + 3 algd

[aJ@ﬂ@ MVD2UDOOIINW A lRARO = 64 2IDOYD aﬂgﬁ] -

c.(x+3 = 64 =8
.xXx+3=8
S x=823=5

3

I+3

(. ", @RR{OHOTN TVN2UIDOMIHTRD AURBBZOS migo = 5 aﬂg:ﬁ)

X+3




2. (UR2IPIHDIDIW B3 SODDIM@TIMR 2jgo 5 migd allailwics
BB AldDQYME. HOHDMIMAYo Al Wo G21BaN AVAUDEATNOHB

alRA@0" 900 21@RuDaIgE @M.

OODDINTINW alRABO o @WITNT?

[ OODMIMATH O AlUoo = X dlgd ng)mﬂdmmg.]

-

a®Res ool = 5 nigrﬂ)

\,

p
.. OOAWIMQo AldDWo Galdam avas@oame alwoe =X +1 OaﬂgﬂJ
\,

”

HODDIMYo aldMAYo GalBAN AVDUDOANWIOWD nlig0l'= 900 al. dlgd J

N

2
. (x +10) =900 = 30°
LLX+10=30

x=30-10 =20

. 9OAMIMOIOM  AEBRGeS Migo = 2() algd
.5 OOMIMATIND  aladBl = 20-2 =400 a1 dlgd

G2l031633U3:

1. 8@ agem@avoal i@ alan’ 3 @:0a)@lloM A1dWo 64 ERWIM
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